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3|HEE: 2018

S| A& st (SHR: )
o = A 15 () 7 M 14 (H) 2|
| E 2 & B 2 & B
I.AGRA 51,667,016,719 42,412,232,622
1L 2ggsez0otodar Y 51,407,016,719 42,292,216,840
1) Abstead2 013 2.9 0l ol 7,039,305,674 5,111,261,755
1) A9 6,373,004,280 4,528,886,899
7t @R 3,995,354,817 3,491,670,537
L. A A 42 2,377,649,463 1,037,216,362
2) us2Y+9 0 0
7t ng2g+9 0 0
3) 7I&0|d 49 409,496,945 391,238,500
7k XA XY £t O T =9 209,942,816 239,697,591
L. =520 =9 199,554,129 151,540,909
(4) SH[XHLALE B9 226,472,631 163,422,720
7h GH[AHALE &9 183,382,928 122,196,795
Lt itz 49 43,089,703 41,225,925
(5) 7|EtAtale 2 4= 9 30,331,818 27,713,636
7b. 7|EpptetE 349 30,331,818 27,713,636




a = A 15 () 7 M 14 (H) 2|
3 2 2 & B 2 & B

2) K| Y2 4ols a2 QloH 38,584,978,052 31,715,133,614
(1) A9 32,488,817,273 26,948,344,015
7h MEG 20 32,195,770,263 26,813,537,505
Lt ArQiR| ol 220l 293,047,010 134,806,510
(2 ns23d4+9 4,199,192,938 4,504,583,973
7t n8 Y0 4,199,192,938 4,504,583,973
3) 7|EHX| A E+Y 1,896,967,841 262,205,626
7b 7|EFR| 242 1,896,967,841 262,205,626
3) {HEH|+=doiaF AU 5,237,198,756 4,670,487,491
(1) st =9 612,130,366 467,371,988
7}, Absta e ol a0l 612,130,366 467,371,988
LE At u g2 49 0 0
Ct. 7|ERAtEl S 2 4=9 0 0
) X a9 4,625,068,390 4,203,115,503
7h K| 2ol 4,576,402,199 4,167,567,843
LE X| Y2 n8egsol 18,803,101 31,122,660
Ch. 7|EFX| 4240 29,863,090 4,425,000
4) MUy B A0 2 ool oH 101,120,000 31,973,290
1) HEa+9 85,000,000 0
bt n el Ys 85,000,000 0
) 712a3+9Y 16,120,000 31,973,290
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1) 2 xfol ke

43,028,634,818

39,961,654,014

40,729,592,883

38,722,141,597

5,915,860,529

4,522,418,493
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5,573,022,113
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2f = 3 A 14 () 7]
EdRE = = < = = < =

2t ol AE S| 885,334,127 730,618,194

Of. 9L apR| 2= RlH| 332,100,924 285,584,985

Hb. 93 egt 106,911,760 79,243,826

AL QIEH L7} EbH| 40,918,476 0

(2) Rs23H| 0 0
7h 1| 0 0

Lt. =g 7 2| 0 0

Ch. a3 0 0

ot A A S| 0 0

O 7|Efdl 52 HH| 0 0

(3) X[ M XY LtHH|E 326,838,416 268,942,927
7h K HTYAE AL | 361,079 2,849,000

Lt Atstsi e 8 A2 326,477,337 266,093,927

(4) 7|EpAFSHE 24| 16,000,000 12,864,706
7h 7|EpASHS | 16,000,000 12,864,706

2) X| Y2 AL H|SI 2 S =0l 30,252,092,944 29,325,557,080
(1) 97H| 25,891,685,118 26,025,603,750
7b Q1 74| 7,312,366,004 6,902,132,297

Lt. SHAE QI Z4H| 2,595,808,044 2,728,905,981

Ct. oI L &HH|-XH 2 H 6,478,587,686 7,022,313,872

2t ol A E S| 5,321,480,811 5,350,406,150
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Of. oL DpK| =R H| 984,127,057 1,005,048,276
Hf. o gt 1,728,278,567 1,618,991,230
AL {EFCI IR 1,471,036,949 1,397,805,944
2) 12YH| 3,860,121,738 3,029,255,071
7}, O174H| 1,031,029,163 747,782,317
L. 1Py 7H ey 52,196,890 43,522,976
Ct. &tsta 291,600,000 244,580,000
2t AEASH| 904,625,733 874,179,851
ot .7|Et S YH| 1,580,669,952 1,119,189,927
(3) 7|EFX| I 2 AFH] 500,286,088 270,698,259
7t 7|EFX| RIS AL H 500,286,088 270,698,259
3) ZHEH| ALY S 29 0 2,708,699,152 2,661,469,097
(1) Q124 X| Y H| 1,590,976,045 1,322,655,896
7t Q1 74H] 1,344,820,794 1,113,060,896
Ll /s EAM TS 246,155,251 209,595,000
(2) Q124 X| Y H| 953,570,567 769,534,348
7b 7| HEEX| YA 71,903,002 202,394,365
Lt AFYEHE = AP EH2 Y H 86,748,347 2,999,999
Ct. O1 L AIOHR 22| H| 35,761,558 38,359,320
ot Gt E Ot | Hi 0 600,000
o AP gst| 29,558,855 27,749,584




2t = X 15 (F) 7| A 14 (F) 7|
TR = 2 g o 2 g o
HE. HH e EHIS 0 0
Ab CHSHOI SHE X | Q2 729,598,805 497,431,080
(3) Mt x| YH| 155,347,567 565,598,501
7t 1pstE ot S| 0 0
Lt XAl XH AL S-S 24| 155,347,567 565,598,501
(4) 7|EFX| S H| 8,804,973 3,680,352
7} 7|EFX| LIH| 8,804,973 3,680,352
4) Udtng|H|s 2 2= 314,096,751 236,654,379
(1) Letzz|H| 314,096,751 236,654,379
7} O174H| 247,107,823 137,232,025
L} HHR| ZH| 66,988,928 99,422,354
5)2FQH| B2 o= N 26,158,106 43,074,093
1) 23H|E& 26,158,106 43,074,093
7t QIShrp 911,877 1,133,216
Lt 7|Et2 ¥ QH| 8 25,246,229 41,940,877
6) StB|AMEISHI=NH 1,512,685,401 1,932,968,455
CEXgseERttaREY 2,299,041,935 1,239,512,417
1) SEXAE| EX|Z= 1,735,715,464 849,414,688
7t AHEFS 0 0
L} 7| H 7| 5= 1,473,182,054 838,791,988
Ct 7| ZXE 156,556,370 7,322,700
2t &S QIR 6,600,000




a = Al 15 () M 14 (H) 2|
|| 2 2 & B 2 & B
2t 7|EFREAAF = 99,377,040 3,300,000
2) BEXIAA EX|S 170,617,876 32,891,388
7h KA AR E = 170,617,876 32,891,388
3) 7|EtH| RS AR = 392,708,595 357,206,341
hel 7| 2MERE 237,076,486 239,272,961
LL7|EF7| 2™ XS 155,632,109 116,933,380
CLESSXE 0 1,000,000
3. R oEQBgREY
1) 2x4olatet 0 0
7t AU ES S LA
mAzo & 8,638,381,901 2,450,578,608
V.21 Zx9 d& 24,212,656,015 21,762,077,407
V.71 2ol o3 32,851,037,916 24,212,656,015




